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0000000 “ Reading comprehension passages generally rely
on some kind of tension to give them difficulty. A discussion or
argument that develops in a linear fashion toward a conclusion is
usually too simple to support challenging items. The requisite
tension can take various forms: a conflict between different or
opposing arguments about something, an unexpected finding that
challenges previously established ways of understanding something, a
disagreement about what evidence is relevant to the solution of a
particular problem, etc. But disagreement or contrast or opposition
IS not in itself enough to provide the tension: a passage that merely
states or describes opposing positions, without discussing in much
detail the reasoning behind them, will not support very many or very
complex items. For example, instead of saying that Brown believed X
and Smith believed Y, a passage might tell us that Brown, heavily



Influenced by such-and-such school of thought, tended to assume A,
and therefore believed X. Smith, on the other hand, had access to
Information that Brown did not have, namely B and C, and this
information led Smith to conclude Y. However, Smith interpreted B
in such a way that it seemed logical to conclude Y, when in fact this
interpretation was ill founded. The more interdependent details, the
more logical twists and turns, the better. Naturally, a passage
containing this kind of density can only be created from a source that
provides the requisite information, and such sources are not easy to
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